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SIMPLE INTEREST
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I = (P)(i)(N) I alagdal S5l

F=P(l +iN)
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P=1,000 S.P. N =3 years i = 10% per year
I a3l
I=(P)@i)(N) =1000 x 0.10 x 3 =300 S.P.
F Al alial)

F=1,000+.300=1,300 S.P.
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COMPOUND INTEREST
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COMPOUND INTEREST

Fi=p+pi=p(1+i)

(3) =(1) +(2)

(2) =(1) = 10%

(1)

."3 EaSeuall Zliall “,a GaTeuall Elial 5,520
5541 A2 Sa5la) FZlia
5588 Allgs SRAN dglay
1.100 100 1.000 1
1.210 110 1.100 2
1.331 121 1.210 3

Fo=p(1+i)+p(1+i)i=p(1+i)(1+i)=p(1+i)°

Fy= p(1+i)*+ p(1+)%i= p(1+i)*(1+i)= p(1+i)’

F=P(1+i)"
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CASH FLOW DIAGRAM
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P=8,000S.P. N=4years i =9%peryear Find F

F =P(1+1)N = 8,000 (1+0.09)*=11,292.8
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F=P (1+i)¥="P (F/P, i%, N)



P=8,000S.P. N=4years i =9% peryear Find F

F = P(1+i)N = P (F/P, 9%, 4)= = 8,000 (1.4116) = 11,292.8
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el A silels A Ul Foolleels P ol G sileals
PIFE =/a PlA AfF AfP PIG

09174 1.0000 09174 1000 1.0900 Q000
0.8417 2.0500 1.7591 0.4755 0.5655 0342
o772 3.2781 25313 0.3051 0.3951 2386
Q7084 45731 32397 02187 0.3057 4.511
0.6493 5.9847 37897 1671 0.2571 7111
15563 7.5233 44859 0.1329 02229 10.092
a.5470 9.2004 50330 0.1087 Q1987 13375
05019 110285 5.5348 0.0507 0.1807 16.888
04503 130210 5.9952 00768 0.1668 20571
- 0.4224 15,1929 64177 0.0553 0.1558 24373
03875 175603 £.8052 0.055% 0.14565 25248
03555 20.1407 77 0.0497 0.1397 32.159
03262 229534 7.4869 0.0535 01335 26073
02992 26.0192 77862 Q0384 012584 39.963
0.2745 293600 8 0607 00341 0.1241 43,807
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F=1000,000 S.P. N=6years / = 8% per year
Find P

P= R1+)™ =1000,000 (F/F, 8%, 6) = 1000,000 (0.6302)

630,200 S.P
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F=A(F/A, i%, N)
F=$1,000 (F/4, 9%, 15)

F=$1,000 (29.3609) = $29,361
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A =200,000 S.P. N =35 years i = 15% per year

Find P

P = A4 (P/A, 15%, 5) =200,000 (3.3522) = 670,440 S.P.
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F=10,000,000 S.P. N = 45 yearsi = 7% per year
Find 4

A = F (A/F, 7%, 45) = 10,000,000 (0.0035) = 35,000 S.P.
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P =900,000 N =60 months  i= 1% per month

Find A4

A = P (4/P, 1%, 60) = 900,000 (0.02224) = 20,016 S.P.
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P =20,000 N=5 Years 1=12% A=?

A= P(A/P, i%, N) = 20,000(A/P, 12%, 5) = 20,000 (0.27741) = 5,548.2$
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F=5,000 1=8% N=15 Years A=?

A=F(A/F, i%, N) = 5,000 (A/F, 8%, 15) = 5,000 (0.03683) = 184.15
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